C11 - 3.1 - Quadratics Graphing x^2 TOV Notes



Notice: the pattern from the vertex (0,0) is **symmetrical** on both sides.

Over 1, 1 squared = 1, up 1. Back to the vertex. Over 2, 2 squared = 4, up 4.



C11 - 3.1 - Quadratic Vertical Translation Notes $y = x^2 + q$

Graphing: $y = x^2 + c$

$$y = x^2 + 1$$



$y = x^2 + 1$	$y = x^2 + 1$	$y = x^2 + 1$	$y = x^2 + 1$	$y = x^2 + 1$
$y = (-2)^{-} + 1$	$y = (-1)^2 + 1$	$y = (0)^2 + 1$	$y = (1)^2 + 1$	$y = (2)^{2} + 1$
y = 4 + 1	y = 1 + 1	y = 0 + 1	y = 1 + 1	y = 4 + 1
y = 5	y = 2	y = 5	y = 2	y = 5

Notice: the graph of $y = x^2 + 1$ is the graph $y = x^2$ shifted up 1. "c" is the y intercept. "c" is only the vertex if there is no "b".



C11	- 3.	1 - C	uadı	ratics H	lorizc	ontal	Trar	nslat	ion	Note	es (x	; — ;	p) ²			
Graphin	ng: <i>y</i>	$= (x \cdot$	$(-p)^{2}$)	†tv		1				
y = (x	- 2) ²	2							4	Ĺ						
									(0,4) 3			(4	l,4)			
Table	e of V	alues							2	$+ \setminus$		/				
x		у		Pt.						(1,1)		(3,1)	x			
0		4		(0,4)		-	-5 -4	-3 -2	-1		(220) 3	4	5			
1		1		(1,1)					-2	_						
2		0		(2,0)	_				-3	-						
3		1		(3,1)	_				-4							
4		4		(4,4)					:	• •		:				
									_	_ (-	<u>2)2</u>			2)2		
y = (x	: – 2)	2	<i>y</i> =	$(x-2)^2$	2	y = (x	$(-2)^2$	²	y v	y = (x)	$(-2)^{2}$	2	y = (x + y)	$(-2)^{2}$ (4) - 2	2	
y = ((0) –	$\binom{2}{2}^{2}$	y =	$((1) - 2)^{2}$	2	y = ((x + y) = (x + y))	(2) - 2 $(2) - 2)^2$)	y y	y = (3)	$(-2)^2$		y = (4	$(-2)^2$		
$y \equiv (0)$ y = (-)	-2) ²		y = y = y = y	$(-1)^2$		y = (0))) ²		y v	r = (- r = 1	1) ²		y = (2) $y = 4$	2) ²		
y = 4			<i>y</i> =	1		y = 0			J	-			<i>y</i> 1			
N	otice	the gr	aph of	$y = (x - x)^{-1}$	$(-p)^2$ is t	he grag	h y =	x^2 sh	ifted r	ight 2.						
N	otice	we shi	ft the c	pposite o	f "p".		5			0						
										$y = x^{\dagger}$	2	($r 2)^2$			
	1	y = (x)	$(+3)^{2}$			1	\ <i> </i> ↑	У		1		y — (. 	x – 2)			
)						7+									
							X									
							4									
						\backslash	3									
						V	5									
						Λ	2	1			/					
						$\langle \cdot \rangle$	1	X								
							\mathbf{N}					x				
			-5	-4	-3 -	2 -1		1	2	-33	4					
							·····									
							-2-									

Graphing: $y = -x^2$	$y = -x^2$
y = -x	
x y Pt.	
-2 -4 $(-2,-4)$	
0 0 (0.0)	
1 -1 (1,-1)	
2 -4 (2,-4)	(-2,-4) (2,-4)
$y = -x^2 \qquad \qquad y = -x^2 \qquad \qquad y = -x^2$	$y = -x^2 \qquad \qquad y = -x^2$
$y = -(-2)^2 \qquad y = -(-1)^2 \qquad $	$ \begin{array}{ccc} 0)^2 & y = -(1)^2 & y = -(2)^2 \\ y = -1 & y = -4 \end{array} $

Notice: The graph of $y = -x^2$ is the graph of $y = x^2$ opening downwards. Over 1, 1 squared = 1, down 1. Back to the vertex. Over 2, 2 squared = 4, down 4.

